Let X and Y have the joint density

L forl1<xz<20<y<3

0 otherwise

N fXY(CB,y) = {3

1) Find P(1 < X < 1.5,1 <Y < 1.5). Enter the answer correct to three decimal places
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- 2)Find P(1 < X < 1.5).
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3) Find P(Y > X). N VoS %
2 I I %S Sy
Aro  of (
block @agon = U@Oe( adve — \-owe( (sm/c» \ 4
R v ) o
. e S
= f G - WA ° -
> (2w - y,\“—\z Prea & Dlwe Ra’ﬁnc ) Xt
| = 3-0) x(2 -
> V—é\_/%—L\f\ > 3
AN 2) |
= 4~ 3 + 0.¢
=> 1S
o POy >xD = Ara of  blake w%/f\m - WS . Vs
Ava & Gue gt T =

Let (X,Y) ~ Uniform(D),where D := {3X >Y,0 <z < 1,y > 0}

4) Find the joint density of X and Y.
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5) Find P(X >Y).
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Let (X,Y) ~ Uniform(D), where D := {(z,y), |z | + | y |< 1}

7) Find the joint density of X and Y. — L3en " 6[_\ o
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_ 9 Find P (5 <X<1Y > O) . Enter the answer correct to 3 decimal points.
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9) Suppose X and Y have the joint PDF

frr(a,y) = cz(z—y) for0<z<l,—z<y<z
XY\: )= 0 otherwise

Find the value of c.

s Conge of w i 1O 1)

ond  Yoviee It o TS T“%n’tj
d N 7

o [ g =

S e fo e ryT - w[wATN = |

{1

2 C So, WY - ) — m[zf - &)

> Cfo‘ 22— wiel = |

=) ZcC [3‘3]0' = |




2> e = |
2

Let X and Y be continuous random variables with joint density

6z?y for0<z<1,0<y<1

0 otherwise

— fxy(z,y) = {

1 1
10) Find P (O <X < 2’ 0<Y < 5) . Enter the answer correct to 3 decimal points.
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1) Find P(X > Y).
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